e 5 / ? / - <~
Tender (/3 /20232
) |
7 Sl gl Dyl 454
(R L
ol paxs 8¢
No. Item Unit Qry
1 Digital multimeter: Sat 5
DC voltage:600V, AC voltage:1000V, resistance:40MQ, manufacturer: Fluke
Clamp meter:
2 |AC voltage:600V, DC voltage:600V, DC current:2000A, AC current:1000A, Set 2
manufacturer: Fluke
3 Insulation tester: St 7
50V,100V,250V,500V, 1000V, manufacturer: Fluke
4 |Digital tachometer motor speed. Set 1
5 |Clamp-on Ground resistance tester,manufacturer: Fluke Set i
6 |Infrared thermometer: to 800 C°, manufacturer: Fluke Set 2
MA Clamp Meter
Measure 4 to 20 mA signals without breaking the loop, Source/simulate 4
7 |to 20 mA signals and provide loop power Set 1
Source/measure DC voltage to verify power supplies or /O signals
Accuracy of 0.2%
Multifunction Calibrator Process
Calibration of both temperature and pressure transmitters
8 [Measure/source/simulate mA loop parameters Set 1
Measure and source mA, Volts DC, frequency, and resistance
Accuracy of 0.025%
Adjustable 30 VDC Dual Power Supply
Input voltage: 230 VAC 50 Hz 5,4 A 1080W pf: 0.78
LED display for voltage and current
9 |Dual Output voltage: 0-30 VDC adjustable Set 1
Dual Output current: 0-20 A adjustable
Resolution of 0.01V and 0.01A, Ripple voltage: =/< 1.5 mV
Fuse protected
10 [Micro-Ohm meter 10A Set 1
11 |Portable Gas Detectors. Set 2
12 |Portable Thermal Detectors. Set 1




—u—[_;%“d e H2/2023

bygSIl Al gt |yl A5
(R o - <4 il
ok paxs 8e>]
No. Item Unit QTY
13 |Manual Handles (small,medium,large). Set 8 )
(two from each size)

LOTO kit :

14 |include: locks, different size isolation ropes, different size breakers Set 1
isolation , different size valve isolation, isolation card.

15 |Rechargable Portable Lights. Set 8

16 |Turbidity meter range (1-1000NTU). Set 1
Portable analyzer for accurate Oxygen measurement Test range (0-2000)

17 Set 1
ppb.

18 [PH electrode. Each 4

Spectro photo meter with test Kits: Set 1
Test Kit Test Range

1.Total Alkalinity. (25 - 400) ppm Each 1
2. Ammonia. (0.015 - 50) ppm Each 2
3. Chloride. (0.1 - 25) ppm Each 1
4. Chlorine. (0.02 - 10) ppm Each 1
5. Hydrazine. (4 - 600) ppb Each 2
6. Hardness total (calcium and magnesium as

19 4 b-(4 Each 1
Caco3). (4) ppb - (4) ppm a
7. Total Iron. (0.009 - 6) ppm Each 2
8. Copper. (0.009 - 3) ppm Each 2
9. Nitrite (NO2). (0.002 - 250) ppm Each 50
10. Phosphonates. (0.02 - 125) ppm Each 2
11. Silica. (3) ppb - (100) ppm Each 6
12. Sulfate. (2 -900) ppm Each 1
13. Carbohydrazide. (5 - 600) ppb Each 2

f g




/[/C‘,NC(@/”’ L%;/;ﬁ& 235

oeldy pamd Bigx]

amia Liectoe Power Ca. [SEPED] Gb_).@&” u\_{Jﬂ !)QM.“ Z&SJ&

Item

Unit

QrY

20

Handheld vibration meter
Origin : USA, EU

Measuring range

Acceleration 0.0 - 399.9 m/s?
Resolution0.1 m/s?

Accuracy @ +2 %

Measuring range

Velocity 0.00-399.99 mm/s
Resolution0.01 mm/s
Accuracy z+2 %

Frequency rangel0 Hz - 1 kHz
Measuring range
Displacement 0.000 - 3.999 mm
Resolutionl pum

Accuracy 2 %

Frequency rangel0 Hz - 200 Hz

Measurement parametersRMS, Peak, Peak-Peak

Technical Data Vibration Sensor
Operating and storage temperature

-55 ... +150 °C

Housing materialstainless steel

Each

\3




Tender e /202.3

;bJSSJ‘ L)\K/JJQJJ '!jAJ,«,H &SJM

Agds ddeg Cldas

No. ltem Unit Qry
1 Ltias Oie eab Set 2
2 6 o> gyaa alad Lial)) Each 1
3 Uil 8 > dgian adad dual)) Each 1
4 il 6 @z dgjan delhad Each 1
5 L;Jl8(c>_=>3.53)'.v.n dcllad Each |
6 A5 Uls i cligS S el ik Set 1
7 3o sb,0S JlsS Sl uwSe Each 1
8 32 J1 10 e (uSss b Set 1
9 13 J14 (0 S5 el Set 1

10 32 J110 oo gy 3 b Set 2

11 Ul 8 e LS duly) Each 2

12 Uil 10 e Sl Each 2

13 Jod> Hlade Each 1

14 o7 Oglds igSla Each 1

15 0381 dod> JugSLi Each 1

16 A LlauS Lol Each 1

17 ol 3._)[&*533.)‘)) Each 1

18 s b e Each 2

19 & g Lol Each 2

20 Ll bde (H9live Each 2

21 i e e 0l Set 1

22 oo § Ml pibo Set 2

23 Uil § ol aibs Set 2

24 Ld> GBS walb Set 1

25 12 pwlge ke Each 1

26 14 puwlge Flide Each 1

27 18 jwlge pliae Each 1

28 8 Ll o> gliae Each 1

29 12 o3 H9dux Flide Each 1

30 Ld> i)y eib Set 1

31 O3bl i) pib Set 1

32 eliygS Uy Set i

33 Slewly go b 24 3UygS i Jpd Set 2

34 oo 24 LU i uSe s 2l Uy Set 1

35 ALy a=d clas Each 4

36 Ao 15dsb sbyeS 4,55 Each 1

37 air impact wrench  (211/2¢l5g)l Jans (£1p ¢l 5,5 Each 2

38 13/85150) Jany (£l el 5,8 Each 2

39 ratcheting wrench 1/2" dadaib Each 3

40 ratcheting wrench3/4" 4aldaib Each 1

41 (mm 50- 10 ) &) g glae pib Set 2

42 ("1/21-7/16 ) 35 34 e pib Set 2

43 (mm32 -10 ) "1/2 &3 Sy eib Set 2

44 ( mm50-19) "3/4d= Sy eib Set 2

45 (imperial 1/4"1-7/16" ) "1/2 3= ,uSs pib Set 2

46 (_imperial"1/21- "3/4) "3/4 &= WSy pib Set 2

47 ( mm32-10) didails (35) plide pib Set 1

48 (("1/41-7/16) dadoib 5 rlie cib Set 1

V4




T(?AC’L(? 4

LT/ 2022

:LS _)_3<J‘ S -(;J‘J L\,Q Rl é\i ]

gl ddeg ildae

No. ltem Unit Qry
49 e (§ )l milas eib Set 3
50 Ao § O gilie b Set 3
51 3y>ia, INCH 1/2 ,Se» dliog Each 1
52 8amd , INCH 1/2 S dluog Each 2
53 Absb, INCH 1/2 S5 g Each 1
54 3Sy=ia, INCH 3/4 ,uSe Loy Each 1
55 5aad, INCH 3/4 ,,uSss oy Each 2
56 dbgb, INCH 3/4 , uSss dliog Each 1
57 "4/3 _ 1 e eSes dad) Each 2
58 "4/3 _1/2 o uSs daid Each 2
59 pt12 ple 24 o rhie Each 2
60 Pt 12 oo 27 Gpo plida Each 2
61 pt 12 plo 30 o lise Each 2
62 pt 12 ple 32 G o o Each 2
63 Pt12 w4l Lpo e Each 1
64 Pt 12 o0 46 ©po zlide Each il
65 pt 12 @0 55 ©po lide Each i
66 ADJUSTABLE WRENCH, 10 INCH Each 1
67 ADJUSTABLE WRENCH, 12 INCH Each 1
68 ADJUSTABLE WRENCH, 16 INCH Each 1
69 ADJUSTABLE WRENCH, 18 INCH Each i
70 pipe wrench inch 10, awlge 7liae Each 1
7 INCH 12, juslge lide Each 1
72 INCH 16, selgo Ui Each 1
73 INCH 18 , pulge lido Each 1
74 LOCK SMITH, 500 GRM Each 1
75 LOCK SMITH, 1000 GRM Each 1
76 EYE BOLT M10 Each 4
77 EYE BOLT M12 Each 4
78 EYE BOLT M14 Each 4
79 EYE BOLT M16 Each 4
80 EYE BOLT M18 Each 4
81 EYE BOLT M20 Each 4
82 EYE BOLT M22 Each 4
83 EYE BOLT M24 Each 4
84 EYE BOLT M27 Each 4
85 EYE BOLT M30 Each 4
86 EYE BOLT M34 Each 4
87 D SHACKLE 0.5 ton Each 4
88 D SHACKLE 1 ton Each 4
89 D SHACKLE 2 ton Each 4
90 D SHACKLE 4 ton Each 4
91 D SHACKLE 8 ton Each 4
92 D SHACKLE 10 ton Each 4
93 CHAIN BLOCK, 1/2 TON Each 2
94 CHAIN BLOCK, 1 TON Each 2
95 CHAIN BLOCK, 3 TON Each i
96 CHAIN BLOCK, 5 TON Each 1
97 HYDRAULIC CYLINDER 5 TON Each 2

T

20




“Tender 43/202.2

;L)J\{%SJ‘ ,\,J::.;J L\Au./jlx 5\5/%,

Digdy ddeg Wildae

No. ltem Unit QFY:

98 HYDRAULIC CYLINDER 10 TON Each 2

99 HYDRAULIC CYLINDER 20 TON Each 2
100 HYDRAULIC HAND PUMP 700 BAR KIT + hydraulic hose Set 2
101 WEB SLING 1/2 TON Each 2
102 WEB SLING 1 TON Each 2
103 WEB SLING 3 TON Each 2
104 WEB SLING 5 TON Each 2
105 WEB SLING 10 TON Each 2
106 SLING WIRE 1/2 TON Each 2
107 SLING WIRE 1 TON Each 2
108 SLING WIRE 3 TON Each 2
109 SLING WIRE 5 TON Each 2
110 SLING WIRE 10 TON Each 2
111 elgd jam=d deluw Each 1
112 Sl + e 50 slg iy Each 2
113 WIS pad Egyle Set 2
114 mechanical puller 3 jaw 2 ton Each 1
115 mechanical puller 3 jaw 6 ton Each 1
116 mechanical puller 3 jaw 12 ton Each 1
117 Ao 25 dbygS dloy Each 2
118 DIAL INDICATOR 0.01-10MM Set 2
119 MAGNETIC STAND Each 2
120 FEELER GAUGE Set 1
121 outside micrometer 0-25 mm Each 1
122 digital caliper Each 1
123 Air Blower Each 1
124 Nose Plier Each 2
125 S dclad Each 2
126 oo dcllad e Each 2
127 e qib Set 1
128 Olawly S Each 1
129 blas o pld (5 o6 Set 1
130 ol Cwll dxlabs Each 1
131 il ol aia Each 1
133 S i) el Each 1
134 Ao ) b Each 1
135 09 Set 1
136 8 piio daglae Each 1
137 gauge slhat ¢lal oli> Each 1

N




